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EXERCISE

A. Answer these questions.

(i) Why are teeth important to us?
Ans: Teeth are important to us because they help us to crush and grind food. They

also make it possible for us to speak clearly.

(i) When do milk and permanent teeth begin to grow?
Ans: By the age of 3 years, a child have a set of 20 milk teeth and up to the age of 12

or 13, these are replaced by a set of permanent teeth.

(iii)  What are different parts of a tooth? Explain in detail.
Ans: A tooth has the following parts:

3 Enamel
Dentine
Crown < ~Pulp Cavity
%
)
Root <+ |
E |
w1 Blood
w e vessels and
! -‘\*_k; nerves
— in pulp

Crown is the part which is visible to us.
Root is that part of a tooth which is inside the gum.
Enamel is the outer, hard shiny layer covering crown.

Dentine is the layer present beneath the enamel.

i WM

Pulp is the living material inside the dentine.

(iv) Describe different types of teeth?

Ans: There are four types of teeth in human beings.



Incisors

1. Incisors: totally 8, 4 front teeth of each jaw.

2. Canines: Four teeth on every end of incisors.

3. Premolars: On each side 2 teeth next to canines.

4. Molars: Totally 12, 3 on each end after premolars.

(v) What is plaque and what causes it?
Ans: Bacteria feeding on stuck food, produce a thin sticking yellow substance called

plaque which causes gum disease and dissolve the tooth.

B. Fill in the blanks.

(i) Milk teeth start falling at the age of 5 or 6.

(ii) 4 more teeth appear after the age of 20 and 25.
(iii) Molar teeth are 12 in number.

(iv) Plaque is thin, sticking yellow substance.\

(v) Tiny black holes in the tooth are called cavities.
(c) Choose the correct answer.
(i) Visible part of the tooth is
(a) root ‘/(b) crown (c) dentine

(i) The layer present beneath the crown is:
‘/(a) dentine (b) enamel (c) pulp
(i) The four front teeth in each jaw are:
(a) molars ‘/(b) incisors (c) canines
(iv) Living material inside dentine is:

‘/(a) pulp (b) plaque (c) root
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(v) Two teeth towards the back of the mouth are:

(@) canines ‘/(b) premolars (c) incisors
(D) Here is a teeth card. Locate and colur the incisors "Red”, Canine "Green",

Premolars "Yellow" and molar teeth "Blue".
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EXERCISE

(A) Answer these questions.

(i) Define the term life cycle in detail.
Ans: Life Cycle is a form of series in which an organism passes through changes, from
the time of its birth to the time of its reproduction. It describes all the stages in the life

of organism during this cycle living things born, grow and die.

(i) Describe the life cycle of a frog.
Ans: The female from lays eggs in water. Male frog fertilizes eggs and a larva comes
out of every egg. Larva becomes a fish like tadpole having a tail but no legs. Tadpole

grows, develops its legs and loses tail. Now it becomes a small frog.

(iii)  Write down the life cycle of a butterfly.
Ans: Female butterfly lays eggs underside of leaves eggs hatches a larva called

caterpillar, which is long and worm. like. It eats the leaves of plants. It makes a covering
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called cocoon. Now it is called pupa. Inside cocoon pupa grows into a butterfly,

breaking cocoon it comes out.

(iv)  What do you know about infancy stage in human life cycle?

Ans:  When a baby of human being is born, he is dependent on his parents. He can
breathe, suck and swallow. He is fed on milk. This slag lasts from the time of birth to
age of 2 years.

(v) Write a short note on adolescence in the human life cycle.
Ans: This stage of human life is between 10 and 18 years of age. During this stage
body becomes physically mature. Boy's voice begins to grow havier. Hair grow on face

and body. Girls gain extra weight and look different from boys.

B. Choose the correct answer.
(i) The larva of a butterfly is:

‘/(a) caterpillar (b) Pupa (c) tadpole
(i) It is like a fish.

(a) pupa (b) caterpillar ‘/(c) tadpole
(i) The stage lasts from the age of 2 to adolescence.

‘/(a) childhood (b) aging (c) adulthood
(iv)  The female frog lays eggs in the:

(a) sand ‘/(b) water (c) soil
(v) The last stage of human life cycle is:

(a) infancy (b) adolescence ‘/(c) death

(9] Label the life cycle of a butterfly.
Caterpillar |

Butterfly
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EXERCISE

(A) Answer these questions.

(i) What do you know about sepals and petals?
Ans: Sepals are the small green part of a flower. The form the outermost circle of the
flower and petals are coloured parts of the flower just inside the sepals. They form

second circle in the flower.

(i) Describe male and female parts of a flower.

Ans: Stamens are pin like objects inside petals. They are the male part of the flower.
They are consisted of anther and filament. They produce pollen grains with male sperm
cells. Carples are female part of flower. They are present at the centre of the flowers.
Every carple has a stigma, a style and an ovary. Ovules in the ovary become seeds.

When ripen ovary forms a fruit.

(i) What is seed? Explain in detail.

Ans: A seed is a case with a baby plant inside. Seed are present in fruits. They are of
different colours, sizes and shapes. They are used to reproduce the plants. Some plants
like mango and plum has one seed in them lemon and orange like fruits have a few

seeds. Watermelon and papaya have many seeds and banana like fruits have no seed.
(iv) Name five plants whose:

1. Fruits we use as food.

Ans:  Mango, Orange, Peach, Banana, Apple.

2. Vegetables we use as food.

Ans: Brinjal, Tomato, Radish, Carrot, Cucumber.

3. Seeds we use as food.
Ans: Almond, Peanut, Wheat, Rice, Maiz.

B. Fill in the blanks.

(i) Seed is the reproductive part of the plant.
(i) Sepals are small green parts of the flower.
(iii) The male part of the flower is stamen.

(iv) The ovules becomes seed.
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(v) Carpel is present at the centre of flowers.

(c) Choose the correct answer.

(i) The reproductive part of the plant is:

‘/(a) seed (b) Flower (c) fruit
(i) The ripened ovary is called:
(@) flower ‘/(b) fruit (c) seed

(iii)  They form the outermost circle of the flower:

(@) stamens ‘/(b) sepals (c) petals
(iv)  Alittle case with a baby plant inside is:

‘/(a) seed (b) carpel (c) fruit
(v) Stigma, style and ovary are the parts of:

(@) stamen (b) petal ‘/(c) carpel

Identify the following seeds.

=

\ A\ W \ )

E. Label the parts of the following flower.

Starmen el liv

({/IFJI'I'IF'I'IT
\

PARAQ @A gAY
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EXERCISE

A. Answer these questions:

(i) Define term pollination. Explain its types.

Ans: The transfer of pollen grains from anther of stamen to the stigma of the carpel
is called pollination. It may be self or cross. In self-pollination pollens from the anther
are transferred to stigma of same flower and in cross pollination here pollens from

anther flower are transferred to stigma of another flower.

(i) What is fertilization? How does fertilization takes place in plants?
Ans: The fusion of the sperm with the egg is called fertilization. In plants wind or

insects carry the pollen grains to stigma and then to ovule to fuse with female egg.

(i) How does formation of fruits and seeds take place after fertilization?

Ans:  When the sperms and eggs have been joined together, the egg cells are said to
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be fertilized. They begins to develop into seed, and ovary ripens into a fruit.

(iv)

Ans:

Explain structure of a seed.

A seed has three parts, seed coat, embryo and stored food. Seed coat is a tough

protective outer layer. Embryo is a young plant having radicle, a plumule and one or

two cotyledons.

Gead Coat

Storcd Food
in seed

A process by which a seed grows into a young plant is known as germination. It

takes place when seed gets (1) sufficient supply of water, oxygen and a suitable

‘/(c) carpel
(0 germination
(c) fertilization

(v) What do you know about germination of seed?
Ans:
temperature.
B. Fill in the blanks.
(i) Pollen grains contain male sex cells called sperms.
(i) Air or insects carry pollen grains to the stigma.
(iii) Embryo is a young plant inside a seed.
(iv) Monocotyledons have one cotyledon in their seeds.
(v) The fusion of sperm with egg is called fertilization.
(c) Choose the correct answer.
(i) The female part of the plant is:

(a) sepal (b) stamen
(ii) The fusion of sperm and egg is:

‘/(a) fertilization (b) pollination
(iii)  Growing of a seed into young plant is:

(@) pollination ‘/(b) germination
(iv) It grows into a shoot:
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‘/(a) radicle ‘/(b) plumule (c) seed coat
(v) The types of pollination are:
‘/(a) two (b) three (0 four
D. Match the columns.
Column "A” Column "B”

PAQAAGAGAS
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EXERCISE

A. Answer these questions.

(i) Define the term health.

Ans: Health is a condition in which all body parts are working properly and the

person is free from illness.

(i) Name some common diseases of human beings.
Ans: Common diseases are:
1 Tuberculosis @ Diarrhea 1 Polio 1 Malaria
1 Hepatitis 1 Measles 1 Dengue 1 Typhoid
(i) Write the symptoms of dengue.
Ans: © Severe headache L Vomiting L High fever

L Skin rash L Bleeding from noose and gums.

L Pain in back and behind the eyes. L Loss of appetite.



(iv)

Ans:

(v)

Ans:

()
(i)
(i)
(iv)
(v)

©
®

(i)

(iii)

(iv)

(v)
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Describe five precautions to prevent dengue.
L A balanced diet L Healthy food habits.

L Regular exercise L Properrest @ Drink more water.

Write six things which are necessary for good health.

(i) Wash hand before and after every meal.
(i) Take a bath daily. (iii) Change the dress daily.
(iv) Brush the teeth twice a day. (v) Use clean utensils for food.

(vi) Do exercise daily.

Fill in the blanks.

Germs make us ill.

Illness is any disturbance in the normal functions of the body.
Dengue is a viral infection.

Dengue is caused by Aedes mosquito.

Aedes mosquito attack in morning and evening.

Choose the correct answer.

A properly working condition of body is:

(@) disease ‘/(b) health

A disturbance in normal functioning of the body is:

(@) health ‘/(b) disease

Dengue is an infection:

‘/(a) viral (b) bacterial

Aedes mosquito attacks in:

(@) morning/afternoon ‘/(b) morning/evening
For good health we should:

‘/(a) eat at right time (b) eat any time.

Tick (‘/) for correct and (*) for incorrect sentences.
We can see germs with naked eye.
Germs make us ill.

Aedes mosquito causes polio.

It is harmful to take medicines ourselves.

NN

We should eat nutritious food.
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EXERCISE

A. Answer these questions.

(i) What is air? Tell its composition.
Ans: Air is gas but not a single gas. It is present as a layer around our earth. It is
composed of i) Nitrogen ii) Oxygen iii) Corbondioxide iv) Rare gases v) Water vapours

vi) Dust particles.

(ii) What are the properties of air?
Ans: © Air has following properties: 1 Air has weight
1 Air occupies space 1 Air helps in burning

1 Air helps in breathing 1 Air has a great force in it.
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(iii) How do plants get nitrogen?
Ans: Plants do not get nitrogen directly. They absorb nitrites and nitrates which are

compounds of nitrogen, to make their food.

(iv) What do you know about helium and neon?
Ans: Helium is a very light gas used in weather balloons, to get information's for
weather forecasting neon is used in coloured electric signs, called neon signs. Both

gases are named as rare gases.

(v) What is the importance of oxygen gas in the air?
Ans: Oxygen is very important for living things. Living things use oxygen in

respiration.

(vi)  Explain the importance of carbon-dioxide.
Ans:  Although it is present in a very small amount in atmosphere, it is very important for

green plants. Plants absorb it to make their food. It can also extinguish the burning fire.

B. Fill in the blanks.

(i) A thick layer of air around the earth is called atmosphere.
(ii) About 21% of air is oxygen.

(iii)  Nitrites and nitrates are the compounds of nitrogen.

(iv)  Carbon-dioxide extinguish the burning fire.

(v) The amount of water vapours in air is called humidity.

C. Choose the correct answer.

(i) The gas used by plants to make food is:

(@) oxygen (b) nitrogen ‘/(c) carbon-dioxide
(i) Less than 1% of the air is:

(@) oxygen (b) nitrogen ‘/(c) carbon-dioxide
(iii) It is a rare gas.

‘/(a) helium (b) nitrogen (c) oxygen
(iv) It is used in coloured electric signs.

(@) nitrogen ‘/(b) neon (c) carbon-dioxide
(v) Nitrogen in the air is:

@  21% Y(b) 78% (©) 1%



Write answer in one word.
It makes out things dirty.

It is used in respiration.

It is evolved during burning and respiration.
The gas that makes up the proteins.

The gas that is used in weather balloons.

dust

oxygen
carbon-dioxide
nitrogen

helium

Write the percentage of gases which present in the air.

Oxygen
21%

Nitrogen

78% “

Carbon-dioxide 1%
ARG RS AG NS
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EXERCISE

A. Answer these questions:

(i) Define environment. Give three examples.

Ans: Environment is a combination of living and non-living things around an
organism, which affects its life, as animals, birds, trees etc.

(i) Differentiate between biotic and abiotic factors of environment.

Ans: Biotic factors include living components like human beings, animals, plants and
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microscopic organisms. The abiotic factors include non-living components like soil,
water, air, sun and temperature.

(iii)

Ans:

What do you know about land environment?
It is environment of many animals and plants it has different types as 1, Forest

environment. 2. Grassland environment. 3.Desert environment.

(iv)

Ans:

(v)

Ans:

What are different types of water environment.

Water environment has different types as:

1. Sea environment. 2. Stream environment 3. Ocean environment
4. Lake environment 5. Pond environment 6. River environment
What is an air environment? Explain in detail.

The environment having air is called air environment. Air is a mixture of different

gases like oxygen, corbon-dioxide, nitrogen, smoke, water vapours and dust. It is

actually a part of land environment. Many birds fly in the air.

B.
(

(i)

(iii)
(iv)

(i)

(iii)

(iv)

()

Fill in the blanks.

Human beings, animals, plants and microscopic organisms are biotic factors of
environment.

The abiotic factors of environment include soil water, air, sun and
temperature.

Land is the part of earth without water.

A barren area of land, is called desert.

Forest is an area of large number of trees.

Choose the correct answer.

It is a biotic factor:

(a) sun ‘/(b) human being (c) temperature
It is an abiotic factor:

‘/(a) water (b) plant (©) animal
Agriculturally useful environment to humans is:

(a) desert (b) forest ‘/(c) grass land
Zebras, buffalos, and antelopes are animals of:

‘/(a) grass land (b) desert (©) forest

Path of earth without water is

(a) stream (b) air ‘/(c) land
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EXERCISE

(A) Answer this question.

(i) Differentiate between volume and mass.

Ans: The space occupied by matter is called its volume and the amount of matter in
an object is called its mass.

(ii) Explain arrangement of atoms in three states of matter.

Ans: The arrangement of atoms in three states of matter is different. The atoms in
solids are tightly packed together having a little space between them. In liquids these
are not so tightly packed, having little spaces among them, and the atoms in a gas are
far apart from each other having a lot of spaces among them.

(iii) How matter changes its states? Discuss with examples.

Ans: To change matter from one state to another requires extreme temperature. It
means we have to provide energy to the matter to change its state, similarly on cooling
atoms lose energy it also leads to the changing of state. For example we can change
ice-cubes to water by heating and water to steam and by cooling again we can change
steam into water and water into ice.

(iv) Define mixture, Give examples of mixtures.

Ans:  When we mix materials in one another, a mixture is formed, for example;

L Air is a mixture of different gases.

L Smoke is a mixture of dust and gases.

L Tea is a mixture of water, tea leaves, sugar and milk.

(v) Describe the method of filtration to separate insoluble solids from water.

Ans: For this purpose we add some sand into water and stir it. We fold the filter
paper twice to have four folds. Keep three fold on one side and one fold on other side.
Put the filter paper into funnel. Pour the mixture of sand and water over filter paper.



32

Water will pass through filter paper and sand collects on the filter paper.

B. Fill in the blanks.
(i) Two important characteristics of all matters are mass and volume.
(ii) Definite shape, definite volume and atoms are tightly packed are characteristics
of solids.
(iii)  The solid state changes into liquid on heating.
(iv) A mixture of coffee bean and water is coffee.
(v) Atoms lose energy on cooling.
C. Complete the columns.
Shape Definite No Definite No Definite
Volume Definite Definite No Definite
Arrangement of atoms Tightly packed Lose packing very lose packing
Movement of atoms Very slow Slow Fast
Examples Chair, Pen Water, Oil Oxygen, Hydrogen
D. Draw atoms to show arrangement of atoms in solid, liquid and gas.
e ™\ e a - ~
. A . " . v
E. Use the given word bank to answer following questions.
(i) Which of these materials are solid at room temperature?
Wax Wood Iron Paper Butter
(i) Which materials are liquid at room temperature?
Water Oil Honey
(i) Which material is a gas when boiled?
Steam Water Ice
(iv)  Which thing of these materials in in the form of solid, liquid and gas?
water ice steam
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EXERCISE

A. Answer the following questions.

(i) How does heat flow from hot body to cold body? Explain with example.
Ans:  When warmer things are put with cooler ones, the warm ones lose heat and the
cool ones gain it until they are all at the same temperature, so in this way heat flows
from hot bodies to cold bodies.

(i) What do you mean by fuels? Give examples.
Ans: Fuels are those substances, which we use to change their chemical energy into
other types of energy. As in generator we use petrol or gas as fuel to get electric energy

or for cooking purpose we use gas or oil to get heat energy.

(iii) Describe construction of a thermometers.
Ans: A thermometer is made up of a glass tube of thin bore. Tube has a bulb at lower
end, filled with mercury or alcohol. Long part of thermometer is called stem. Scale for

measurement of temperature is printed on the stem.

(iv) Explain working of thermometer.
Ans:  When thermometer is placed in hot object liquid in bulb absorbs heat, expands
and rise into the stem of the thermometer, when placed in a cold object, liquid

contracts and fall down into the bulb and comes down in stem.

(v) Write a note on temperature scales.

Ans: There are two types of scales, Centigrade and Fahrenheit in centigrade scale
freezing point of water to boiling point scale is divided into 100 parts and in Fahrenheit
scale this part is divided into 180 parts.
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(ii)

(iii)

(iv)

(v)

(

(i)

(iii)

(iv)
(v)
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Choose the correct answer.

The flow of heat is from.

‘/(a) hot to cold (b) cold to hot
Our sense of tells us about hotness or coldness of a body.
@  sight Y(b) touch

It is used to measure body temperature of humans and animals.

‘/(a) clinical thermometer (b) laboratory thermometer

The boiling point of water is:

@ 0Cand32F Y(b) 100 Cand212F
The temperature at which water freezes is called:
‘/(a) freezing point (b) boiling point

Fill in the blanks.

Machines and electricity are manmade sources of heat.

The measure of degree of hotness or coldness of an object is called
temperature.

The bulb of thermometer is filled with mercury or alcohol.

Centigrade scale was introduced by Celsius.

Fahrenheit scale has 180 divisions marked from 32 to 212.

YAQAGA QA Sk g
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EXERCISE

A. Answer these questions.

(i) Differentiate between luminous and non-luminous objects.

Ans:  The objects which give off their own light are called luminous bodies, as sun and

object which do not give of their own light are called non-luminous bodies as moon.

(i) Define transparent, translucent and opaque objects.

Ans: The objects which allow the light to pass through them are called transparent

objects, which allow some of the light to pass through them are called translucent

objects and the objects which do not allow the light to pass through them are called

opaque objects.

(i) Explain how shadows are formed?

Ans: Light travels in straight line. Light passes through transparent objects but cannot

pass through opaque objects. When these opaque objects block light, shadows are

formed similar to shape of objects.

(iv)  What is meant by reflection of light?

Ans:  When a ray of light strikes with a surface it bounces back. This bouncing back of

light after striking a surface is called reflection of light.

(v) Why do you see clear images in mirrors?

Ans: Clear images in mirrors are seen due to their smooth, shiny and polished
surface.

B. Fill in the blanks.

(i) The biggest source of light is sun.

(ii) Moon, planets, chair, glass do not give light. They are Non-luminous.

(iii)  The bouncing off of light from a surface is reflection.

(iv) Form of energy that gives us the sensation of sight is light.

(v) A dark figure formed when an opaque object blocks light.

C. Tick (‘/) for correct and (*) for incorrect sentences.

(i) Luminous objects do not give off their own light.

(i) Translucent objects allow some of the light to pass through them.

(iii)  Shadows formed when transparent objects block light.

(iv) Rough and dull surface reflect less light.

NI

(v) Mirrors have smooth, shiny and polished surfaces.
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EXERCISE

A. Answer these questions.

(i) How sound is produces?
Ans: Sound is produced by vibration. Vibration is quick backward and forward
movement of an object. Vibration causes movement in air or another substance around

it which produce sound.

(i) Write a note on loud and soft sounds.

Ans: When the vibrations produced by a body are big or its intensity is higher, sound
produced is said to be loud, and when the vibrations are small, or its intensity is low
sound is soft.

(iii)  Give examples of high and low sounds.
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Ans: High or loud sounds are:

(i) sounds of aeroplanes (i) whistle of train
(iii) Braying of donkey (iv) Barking of dogs.
Low or soft sounds are:

(i) cat's meow (i) Rustling of leaves.
(iii) Ticking of clock (iv) Chirping of birds

(iv) Differentiate between pleasant and upleasant sound?
Ans:  Some sounds which make us fed happy and comfortable are called pleasant
sounds such as music sound, and sounds which make us sad and uncomfortable are

called unpleasant sounds, such as sound of traffic.

(v) Discuss that sound needs medium to travel.
Ans:  With vibrating objects, air also vibrates. The our vibrates in waves called sound
waves. These waves need something to travel through and when travelling through

solids, liquids or gases, these waves reach to our ear we hear the sound.

B. Tick (‘/) for correct and cross (*) for incorrect sentences.
(i) When we speak our voice comes from vocal cords.

(i) Sound is produces by vibration.

(i) Loudness means how loud or soft a sound is

(iv) When objects vibrate fast they make low sounds.

AU IERNEE NN

(v) Sound travels faster through gases.

C. Write down one word for the following.

(i) The form of energy that gives us a sensation of hearing SOUND.

(i) A quick backward and forward movement of an object VIBRATION.

(iii)  The sound of our speaking VOICE.

(iv) The loudness of the sound INTENSITY

(v) The sound that makes us feel happy and comfortable PLEASANT SOUNDS.

PAQAQ% QA G
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EXERCISE

A. Answer these questions.

(i) What is static electricity? How it is produced?
Ans: The electricity which is in state of rest is called static electricity. It is produced by
rubbing two things.

(ii) What is current electricity? Explain in detail?
Ans: The electricity which flows through wires is called current electricity. It is
produced by power stations, batteries or cell. It travels through metallic wires; the path

of this current electricity to flow is called a circuit.

(i) Differentiate between close and open circuit.

Ans: The electric circuit having no gap is called close circuit. In close circuit the path
of electricity flow is always completed. The circuit having a gap is called open circuit. In
this circuit path of flow of electricity is not completed.

(iv) What is difference between conductors and insulators? Give examples.
Ans: The materials which allow electricity to pass are called conductors for example
iron, copper, gold, dominium, silver etc. The materials which do not allow electricity to

pass are called insulators examples are rubber, plastic, wood, glass etc.

(v) What does a circuit consist of?

Ans: A circuit consists of wires, switch, bulb and a battery or cell.

B. Write answers in one word.

(i) A kind of energy that helps us to use electrical appliances. ELECTRICITY
(i) An electricity in state of rest. STATIC ELECTRICITY

(iii)  The kind of electricity which flows through wires . CURRENT ELECTRICITY
(iv)  An electric circuit having a gap. OBEN CIRCUIT

(v) A device that opens or closes the electric circuit. SWITCH

C. Tick (‘/) for correct and cross (*) for incorrect sentences.
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(i) Electricity is not an essential part of our activities. x
(i) There are two kinds of charges. v
(i) Switch is a path of an electric current to flow. x
(iv) Flex is covered with a thick layer of plastic. x
(v) Conductors allow electricity to pass. v
D. Sort and list the objects into electrical conductors and insulators.
Iron Mail Pencil Bat Wooder Cli

Thrr—_'-ad. Paper Clip
F—y _.
Aluminum Shest Geold Bar. | Flastic Soocn Silver Spoon
CONDUCTORS
Iron nail paper clip wooden clip bat
Aluminum sheet Gold Bar Brick Thread
Silver spoon Pencil Plastic spoon Paper

YAQAGAGA 9% g
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EXERCISE

A. Answer these questions.

(i) Tell different shapes of magnet.

Ans:  Magnets are of different shapes as bar magnet button magnet, ring magnet, rod
magnet, U-shaped magnet and horse shoe magnet.

(i) What do you know about magnetic field?

Ans: The area around a magnet where the magnetic force acts is called magnetic
field. It shows the magnets force of attraction or repulsion.

(iii)  Differentiate between magnetization and demagnetization.

Ans: The process of turning magnetic materials into magnets is called magnetization
and the process of turning a magnet into non-magnet is called demagnetization.

(iv) List five uses of magnets.

Ans: Five uses of magnets are:

(i) The magnets are used in pencil boxes to keep the lid shut.

(i) The magnets are used to pick up heavy magnetic objects.

(i) The magnets are used in electric bells that we use in our homes, offices and
schools.

(iv)  The magnets are used in door-stopper holders which keep the doors open.

(v) The magnets are used in the compass, which is used to find out the directions.
(v) Define the following.

1) Magnet 2) Magnetism

3) Permanent magnet 4) Temporary magnet.

Ans: MAGNET: A magnet is an iron or steel object that attracts the things made

of iron nickel and cobalt.
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MAGNETISM: Magnetism is a kind of energy present in a magnet, which
attracts the magnetic things.

PERMANENT MAGNET: Magnets which keep their magnetic power for
long period of time are called permanent magnets.

TEMPORARY MAGNETS: The manets which act as magnets for some
period and then lose their magnetic power are called temporary magnets.
B. Choose the correct option.

(i) The kind of energy present in magnet
v

a) magnetism b) electricty c) heat
(i) Lodestone is a magnet:
Ya)  natural b) artificial C) temporary
(iii)  The magnets which keep their magnetic power for long periods of time.
a) temporary magnet 'b) permanent magnet  c)artificial magnet
(iv)  Turning magnetic material into magnets is called.
‘/a) magnetization b) demagnetisation c)permanent magnet.

(v) The things which are not attracted by magnets?

a) magnetic materials  b) non-magnetic materials

C) artificial magnets.
C. Tick (‘/) for correct and cross (*) for incorrect sentences.
(i) Magnets can attract all kinds of things. x
(ii) Lodestone is an artificial magnet. x
(iii) Same poles repel each other. v
(iv) Magnetization is also done by using electricity from a battery. v
(v) Demagnetization is a process of turning a magnet into non-magnet. v
D. Draw differen shapes of magnets and colour them.

-
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EXERCISE

A. Answer these questions:

(i) Define the rotation and revolution of the earth.
Ans: The earth spins or rotates on its axis. The spinning of earth on its axis is called
rotation of earth and movement of earth around the sun in an orbit is called revolution

of earth.

(ii) Describe the occurance of day and night.
Ans: In the morning sun rises in the east and in the evening it sets in the west. It is
due to the spinning of earth about its axis. The part of earth which becomes in fron of

sun observes day and rest helf part observes night.

(iii) How summer and winter seasons are formed.

Ans:  Earth is slightly tilted on its axis. The seasons change because some places on
Earth receive more heat and light at some times of the year. The part of Earth tillid
towards the sun gets more heat, so there is summer season and the part of Earth tilted

away from sun gets less heat so there is winter season.

(iv) Explain movement of moon.
Ans: The moon is spherical in shape, much smaller than earth. It revolves around the

Earth, and completes its one revolution around the earth in about 28 days.

(v) What do you know about solar and lunar eclipse?
Ans:  Solar eclipse occur when the moon comes in between the sun and the Earth and

casts its shadow on the earth and the lunar eclipse occurs when the earth comes in



between the sun and the Moon and casts its shadow on the Moon.

B.
()
(i)
(iii)
(iv)
(\)]

@

(ii)
(iii)
(iv)

(v)

Mark (‘/) the correct and (*) the incorrect sentences.
There are eight planets in our solar system.

The earth is about 100 million km away from the sun.
Leap year has 28 days in February.

During solar eclipse the moon becomes in between the sun and the earth.

X O X X<

The moon completes one revolution around the earth in about 30 days.
Write one word for the following.

The spinning of the Earth on its axis. ROTATION

An imaginary line passing through north and south poles of the earth. AXIS
The motion of the earth around the sun. REVOLUTION

The partial or complete hiding of one heavenly body by shadow of another.
ECLIPSE

The earth comes in between the sun and the moon. LUNAR ECLIPES

Draw the pictures of solar and lunar eclipse.




